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©) y=mi+2m

(d) y=mx+m







s for the following three (03)

lowing information and answer

is that follow : e ﬁm llm:w e, ﬁ}}m o

"ﬁmctiﬂﬂﬂx} 53{1} + MIJ
) =34 20 - 12224 288x 4 |

e 4x
_] and h(0) =55 5
\ 4
74. Inwhlchonnnfm;m e

f the function is the function i
(@ (2,3
() 6.4
(© 3.-2
(d) (-4, -3)

thgpcﬁodﬂ




s marks in a frequency fable

o be 5, 10, 15, 20, 25, 30,

_ 50. The class limits of the
five classes are

27

9 Meryge

() 9,4

(c) 81, 16
() 81,4

9. If a.coin is tossed il
space ? |
(@) {H}
®) {TH)
(@ {H, TH, TTH, TTTH, ..o

80. Consider the following disen
quency distribution :

s|1)2]3] 45|

I 3|15 (45| 57[ 50| 3¢

What is the value of
distribution ?

(a) 4
) 5
(c) 6
(d) 7
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84. Consider the following stateme
| HAmdBm Lt
P(4) = P(B) = 0-6.

that P(4|B) = 1, then P(B].

Which of the above s
correct 7
(a) 1 only
(®) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

sixfafajrdieismueﬂﬂmas,’
is the probability that there
2 sixes ? .
5

(a) 216

>

®) 216

125
216

175
216

(©)

(d)




‘{5} 50, 10
® 50, 15
) 55, 10
@ 55,15

ﬂ if’lilemngn of a set of observations op
gmabiakmlmomtobelﬁ and if
Y=40+ 3X, then what is the range of

the set of corresponding observations
on ¥?

Es) 25

W

m.ﬁmms ﬁl’tﬂ' J
afﬂvhnrhxandimwh

2v km/hr. What is the
the car ?

(@) 2-5v km/hr
(b) 2-4vkm/mr
() 2:2v km/hr
(d) 2:1vkm/hr

90, The mean weight of 150

of I:lnjl"ﬁ is ‘?I.']'kg and M
55kg. What are the numb:
and girls respectively in the

(@) 75 and 75
(b) 50 and 100
{c) 70 and 80

(d] 100 and 50




Whﬂl is the value ufuot(A B}*}

{an(d - B) equal 107
(a)

| —

)

o | —

(@

Mg

96. Whaimmﬁﬂ“-mmd[]‘?—" :
equal to ? -

- (a) 2
(b) 1
© 0
() -19

angle, then what is tand + tanB equal
o

=h
ab

(a)

g%

@
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4 102, Consider the: totwing AR

() 2tangq
(d) 2cotd

respect of the function J
for x # 0 and f(0) = 0

L. lim f(x) exists
x—0

2. f(x) is continuous at x

I i ! Whil:h of the above :
99. What is cotd + cogecq Sial e correct ?

4 (@) 1 only
@ ﬁn(;] (b) 2 only

(c) Both 1 and 2
(b) Got[g] (d) Neither 1 nor 2

o A : :
{g) 2m(E] 103. What is the value of If_in’a ;

. - 1
@ 2@[%) - Bl

s | —

tan25°tan50° equal to ?

B !
g © 5
o i 1

104. What is the degree of the «

i £24(2]
a of the region bounded g )



M Where g PO h“m:tinaml o
. ) =69 .ﬂo) -l .ﬂ- 1::3
{Q S5x% -2y 4 5
() 3x*_2, s
(©) 3x* -2+ 5
(d) 33— 10x+5
w Jor the Jollowing thre, (03)
Read the fbllomng information and ansyer

the three items that follow :
| Letf(x) =+ +2x — 5 and g(x) = 5x + 30

.m_m are the roots of the equation

37

108, Ifﬂ(t}- %} w]l apae "I.I.:

derivative of h(x) ?

(a) ~40

(b) -20

() ~10

(d 0
Directions for the following two (i
Read the following information and 2

the two items that follow :

Consider the integrals
L=2%_ wmir,=
0o 1+smx

109, What is the value of I, 2
(a) 0

(b)

£
2

(c) =
(d) 2x

-

110. What is the value of I, + , ?

(a) 2@

(b) =
T .
(c) 3

(d 0
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~edy=g :
. (a) %squm units
®) mydr-‘-(l-%dy-u . )
_— ¢ il
! {gﬁ er(l‘ﬁ't)dx+tany@=u (®) 3 square units
R rﬁ E‘F:gtta'[l'l"ﬁﬁ"-IF(-l'*‘-"‘.]'df?4¢=ﬂ (c) % square units
12, (d) 1 square unit
.x:l S.Iz‘ g
115, If f(x) s +6x+7 1

the interval T and dec i
interval S, then which one
following is correct 7
(a) T=(-0,2)U (3, ) and.
(b) T'=¢ and S=(-, 0)
(© T=(-o, ) and S=¢
(@ T=(23)and §=(~e0,2) U
‘116. A coin is biased so that hea
up thrice as likely as tails.
independent tosses of a coin, -

the probability of getting at n
tails ? |

(a) 0-16
(b) 0-48
(c) 058

(@) 098



% Containg 20
=5 Spfective. 1 3 " "M of which 119 Arithmetic mean of 10
" — A o b random g, © 00ks are . 60 and sum of squares
:':':r y M successigp With Oved from from 50 is 5000. What 1
B o v s g, o e deviation of the observa
:: ooks are defﬁt.ﬁyﬁ-; that
(a) 20
(®) 21 .
(c) 22:36
(d) 2470

o order is 42. What are the pPre?

g (a) 7010

=

(b) 7110
(c) 7210

(@ 7240

& 1) ﬂﬁm of the ﬂhﬂﬂﬁﬂﬁﬂﬂﬂ 22, 24, ! 120. lfp ﬂﬂd g are the mntg df
x+1, x+3, 46, 47, 57, 58 in 2_30x+221=0, what is




